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QUESTION 1

Which View Object method should be called to set a Named Bind Variable?
A. setBindingStyle

B. setWhereClauseParam

C. setNamedWhereClauseParam

D. setWhereClause

E. setNamedParameter

Correct Answer: C

QUESTION 2

Enterprise 2.0 portal consists of composite applications.

Which option best describes a composite application?

A. An application that runs on multiple operating systems, such as Vmwares

B. An application designed to display data from disjointed systems on a single page

C. An application that has multiple users accessing from multiple regions

D. An application using multiple application servers

E. An application that runs on multiple hardware platforms and has the ability to connect to multiple data sources

Correct Answer: B

QUESTION 3

JCR APIs: The most important methods exposed by Session are those that provide access to the Items hi the
workspace tree. Typically, the user would begin by calling . Hint: This node is the main access point to the content
of the workspace.

A. Session.getRepository()

B. Session.getRootNode()

C. Session.getWorkspace()

D. Application .getWorkspace()
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Correct Answer: B

QUESTION 4

How many bounded task flows can exist in an ADF application?
A. At least one

B. Only one

C. Maximum of two

D. Can be any number (need not exist also)

Correct Answer: A

QUESTION 5

Each Oracle WebLogic Server domain must have one server instance that acts as
A. an OC4J Server

B. an Administration Server

C. a Managed Server

D. J2EE

Correct Answer: B
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